e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

mw Land MAZDA
DA 1987-1990
|
MA-12101 KI-13303
Tie Rod End Axial Joint
Front Front —=’
M12x1,25Rht M12x1,25-L=267mm
KKY0132280 MD0013224X
| |
Kl-20454
Control Arm Bushing
Rear
KKY0134460
DB 1990-1996

MA-13110 MA-12111
Axial Joint Tie Rod End

Front Front
M12X1,25-L=264mm M12x1,25Rht

D0613224XA 8AB232280

m 1996-2003

MA-14107 FO-23111114

Stabilizer Link Steering Tie Rod Assembly
Rear Front Right

L=80mm  4E0032280A
EA0128170D

FO-23112114 FO-13114

Steering Tie Rod Assembly Axial Joint

Front Left Front
1E0132280A M14x2-L=313mm

B196FB3L519BA

FO-11115 FO-12111
Ball Joint Tie Rod End

Front Front Right
D=@16.5mm M14x2Rht

94FB3395A2B 1020174

FO-12112 FO-14310
Tie Rod End Stabilizer Link

Front Left Front
M14x2Rht L=237mm

1020175 1661237

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



—
sy L and

MAZDA

1996-2003

FO-16283 FO-16284
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
PowerSteering PowerSteering
1E0134300A 1E0034550A
FO-16282N FO-16281N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

Front Left Lower
ManuelSteering

1E0034350A

1E0034350A 1E0034300A
FO-16282 FO-16281
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
ManuelSteering

1E0034300A

FO-2089

Control Arm Bushing

Front Outer

FO-2088

Control Arm Bushing

Front Right Lower Inner

96FB3A262AD 96FB3063AA
2 DE 2007-2015
|
FO-16238N FO-16238
P Suspension Control Arm Suspension Control Arm and Ball Joint
N\ . Assembly
I @ | Front Right Lower
N J Front Right Lower
%\ 8V513042BH
8V513042BH
FO-16239 FO-16239N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Left Lower
8V513051BH
8V513051BH
FO-14236A FO0-14236

P Stabilizer Link
@ Front
Metal-L=251mm

8V5Z5K484B

Stabilizer Link

Front %
Usatype

8V513B438AB

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land
DE
FO-11234 FO-20264
Ball Joint Control Arm Bushing
Front Lower Center
1751955 D65134300B
FO-20263 MA-13253
Control Arm Bushing Axial Joint
Lower Front
D65134300B M14X1,5-L=216mm
D65132240
MA-12251 MA-12252
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
D65132280 D65132290
2
|
MA-14850
Stabilizer Link
Front
DA5A34170
p DY
FO-14244 FO-16246

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

Front
L=284mm Front Left Lower
Y125613B438AC 1436095
FO-16246N FO-11243
Suspension Control Arm Ball Joint

Front Lower

1436095 ~ D=@16,5mm
25613395AB
FO-16245 FO-16245N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly

Front Right Lower
1436097

Front Right Lower
1436097

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

MAZDA

2007-2015

2014 after

2003-2007

info@parsrot.com



Rot sy

= Land MAZDA
2 (D) 4 2003-2007
|
FO-12241 FO-12242
< Tie Rod End Tie Rod End
- Front Right Front Left
M14x1,5Rht M14x1,5Rht
Y1256J3289AC Y1256J3290AC
FO-13247 FO-20396
Axial Joint Control Arm Bushing

K]
& ———_%}
@ —— o

Front Front Outer
M14x1,5-L=278mm 12128072
4472940
FO-20398
Control Arm Bushing
Center
1215648
BK 2003-2009
FO-19441 FO-14469
Lateral Arm Stabilizer Link
Rear Lower Rear
2463500053 -=76mMm
30683232
FO-19440 FO-20287
Lateral Arm Control Arm Bushing
Rear Upper Rear
1329730 1686184
MA-13333 MA-12331
Axial Joint Tie Rod End
Front Front Right
M17x1,5Rht-L=292mm M17x1,5Rht
BP4L32240 BP4L32280
MA-12332 MA-11336 e
Tie Rod End Ball Joint
Front Left Front
M17x1,5Rht D=@18mm
BP4L32290 2L8Z3079AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

7

info@parsrot.com



Rot sy

== Land MAZDA
3 BK 2003-2009
MA-16334 MA-16335N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Right Lower
B32H34350C
B32H34300D
MA-16335 MA-16334N
Suspension Control Arm and Ball Joint Suspension Control Arm o
Assembly N
Front Right Lower
Front Left Lower
B32H34300D
B32H34350C
MA-14337 FO-20524
Stabilizer Link Control Arm Bushing
Front Front Right Lower Inner
L=306,5mm 4749992
BP4K34170C
MA-20525
Control Arm Bushing
Rear
30678440
2009-2014
|
MA-11336A MA-16348
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
BBM234350
BBM234300A
MA-16349 MA-14340
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower L=298mm
BBM234350A  BBM234170A
MA-12332 MA-12331
Tie Rod End Tie Rod End
Front Left Front Right
M17x1,5Rht M17x1,5Rht
BP4L32290 BP4L32280

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land MAZDA
3 2009-2014
|
MA-13333 FO-14469
Axial Joint Stabilizer Link
Front Rear
M17x1,5Rht-L=292mm L=76mm X
BP4L32240 30683232
BM 2014-2019
MA-19388 MA-19389
Lateral Arm Lateral Arm
Rear Rear Right
L=284mm  B45A28200
BJS728C10
MA-19390 MA-13393
Lateral Arm Axial Joint
Rear Left Front
B45A28250 GHT232240A
MA-12391 MA-12392
Tie Rod End Tie Rod End
Front Right Front Left
C=M14x1.5 C=M14x1.5
GHT232280 GHT232290
MA-16398 MA-16399
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

JapanBuilt JapanBuilt
B60S34300 B60S34350
MA-11805 MA-14397
Ball Joint Stabilizer Link
Front Lower Rear Left
JapanBuilt L=150mm
B60P34300 KD3128190
MA-14394 MA-14395
— Stabilizer Link Stabilizer Link
FrontRight  Front Left
L=284mm L=284mm
B45A34150 B45A34170

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land MAZDA
3 BM 2014-2019
|
MA-14396 MA-201031
N Stabilizer Link Control Arm Bushing —
! Rear Right Front Right Lower
L=150mm 50534300
KD3128170
MA-201032 MA-20898
Control Arm Bushing Control Arm Bushing
Front Left Lower Rear
B60S34350 BJS728C10
MA-20993 MA-20994
P Control Arm Bushing Control Arm Bushing
! Rear Right Rear Left
B45A28200 B45A28250
323 BF 1984-1989
|
MA-13103 MA-11102
Axial Joint Ball Joint
- o= mi{Te Front Front
M12x1,25Rht-L=313mm D=@16mm
BF6732240 B09234550
|
MA-12101
Tie Rod End
Front
M12x1,25Rht
KKY0132280
BG, 6th Gen 1989-1994
|
MA-13113 MA-12111
Axial Joint Tie Rod End
Mmi2xt SARNTEIRgng, M. 25Rnt
B4563224X 8AB232280
|
MA-13114 MA-11112
Axial Joint Ball Joint
to—————— i Front Front
M12x1, 251 535 %m D=016mm
B4563225X B45534550

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

10

info@parsrot.com



Rot sy

B45534300B BR7034350B

== Land MAZDA
________________________________________________________________________________________________________________________________________|
323 BG, 6th Gen 1989-1994
|
MA-16125N MA-16126N
Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left Lower A
Lower Lower
|

MA-20627 MA-20628
Control Arm Bushing Control Arm Bushing
Right Left
BTAA3446X BTAA3446Y

323 BH, BA 1994-1998

MA-13123 MA-11122
Axial Joint Ball Joint

Front Front
Only:1,8Engine M12x1,25-L=336mm ChNo:->1-630912 D=18mm

E0163225X BTDA34550

MA-14134 MA-14211
Stabilizer Link Stabilizer Link

Rear Front Right
L=253mm L=104,5mm

BC1D28170A GA2A34150A

MA-12111  MA-14210
Tie Rod End Stabilizer Link

Front Front Left
M12x1,25Rht L=104,5mm

8AB232280 GA2A34170A

pel8

v

LANTIS 1999-2004
| |
MA-12201 MA-13603

Tie Rod End Axial Joint
Front Right ———————nt

M14x1,5Rht M14x1,5-L=308mm
F02Z3A130A B25D32240
| |
MA-13604 MA-13127

Axial Joint Axial Joint

——mi Left Front ————uille

M14x1,5-L=308mm (Only:Lantis) M12x1,25-L=320mm
B25D32240 B25D32240X

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com



Rot sy

CR19, 2nd Gen

= Land MAZDA
323 LANTIS 1999-2004
|
MA-11140 MA-16145
— Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
G03099356
B25D34300D
|
MA-16146 MA-14144
= Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower L=190mm
MA-14137 MA-14358
Stabilizer Link Stabilizer Link
Rear Rear
L=190mm Only:2.0Mpv L=160mm
B26R28170 B30H28170B

2005-2010

MA-14337

Stabilizer Link

MA-16334N

Suspension Control Arm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Front Right Lower
L=306,5mm  p351134300D
BP4K34170C
MA-16335 MA-16335N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Left Lower
B32H34350C
B32H34350C
MA-13333 MA-12331
Axial Joint Tie Rod End
Front Front Right
M17x1,5Rht-L=292mm M17x1,5Rht
BP4L32240 BP4L32280
MA-12332 MA-16334
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M17x1,5Rht Front Right Lower
BP4L32290 B32H34300D

parsrot.com

12

info@parsrot.com



Rot sy

= Land MAZDA
5 CR19, 2nd Gen 2005-2010
> MA-11336 MA-20525
Ball Joint Control Arm Bushing
Front Rear
D=018mm 30678440
2L.8Z3079AA
FO-20524 FO-14469
Control Arm Bushing Stabilizer Link
Front Right Lower Inner Rear
1749992 ~ L=76mm
30683232
FO-19441 FO-20287
Lateral Arm Control Arm Bushing
Rear Lower Rear
2463500053 1686184
FO-19440
Lateral Arm
Rear Upper
1329730
GG 2002-2007
MA-11704 FO-16188
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Upper
Front Right
GJ6A34540
GJ6A34J00B
MA-13703 FO-19165
Axial Joint Lateral Arm
Front Rear Upper
GJ6E32240 G26A28C10
FO-16189 MA-14712
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear
Front Left
GJ6A28170A
GJ6A34J50B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

6 GG

MAZDA

2002-2007

MA-20456 MA-20455

— Control Arm Bushing Control Arm Bushing
. Lower Center Lower Center
GJ6A34470A GJ6A34710A

MA-19715 MA-12701
P~ Lateral Arm Tie Rod End

Rear Front Right
FORGED M14x1,5Rht

G26A28C10 GJ6E32280A

MA-12702 MA-16708

Tie Rod End Suspension Control Arm and Ball Joint

Assembly
Front Left

M14x1,5Rht Front Right Upper
GJ6E32290A  GP9A34200C

MA-16709 MA-16714

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Upper Front Lower
GP9A34250C GJB6A34300D

MA-14710 MA-14711
Stabilizer Link Stabilizer Link

Front Right Front Left
L=155mm L=155mm

GJB6A34150A GK2A34170

FO-20885

Control Arm Bushing
Lower

GJ6A34J00D

6 GH

2007-2012

MA-20804 MA-20921

Control Arm Bushing Control Arm Bushing
Upper Right
GS1D34200A GS1D34300L

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 14

info@parsrot.com



Rot sy

mw Land MAZDA
6 GH 2007-2012
MA-20922 MA-20923
Control Arm Bushing Control Arm Bushing
Front Front Inner
GS1D34350L GS1D34300G
MA-20924 MA-13723
Control Arm Bushing Axial Joint
Left Front
GS1D34300G M14X1,5-L=165mm
GS1D32240
MA-12721 MA-12722
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
GS1D32280 GS1D32290
MA-16724 MA-16725
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
GS1D34300J GS1D34350J
MA-16728 MA-16729
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Upper Front Left Upper
GS1D34200C GS1D34250C
MA-14720 MA-14726
Stabilizer Link Stabilizer Link
Rear Front Right
Gs1D28170  -=159mm
GS1D34150
MA-14727

Stabilizer Link

Front Left
L=159mm

GS1D34170

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and
6 GJ
MA-16808 MA-14396
P Suspension Control Arm and Ball Joint Stabilizer Link
N Assembly
Rear Right
Front Right Lower L=150mm
GHP934300D KD3128170
MA-14397 MA-13393
Stabilizer Link Axial Joint
Rear Left Front
L=150mm - Gh7232240A
KD3128190
MA-12392 MA-12391
Tie Rod End Tie Rod End
Front Left Front Right
C=M14x1.5 C=M14x1.5
GHT232290 GHT232280
MA-11805 MA-16809
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly

Front Left Lower

MAZDA

2013-2016

JapanBuilt
B60P34300 GHP934350D
MA-14800 MA-20880
Stabilizer Link Control Arm Bushing
Front Right
L=287.5mm  kp3534300D
KD3534170
MA-20868
Control Arm Bushing
Front Right Lower Inner
KD5334300F
1987-1992
MA-12221 MA-16226
Tie Rod End Suspension Control Arm and Ball Joint
Front Assembly
M14x1,5Rht Front Left Lower
H00189324 GN9834350A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

MAZDA

1987-1992

Front Lower

= [and
626

MA-13203 MA-11202

Axial Joint Ball Joint
—_———s Front Inner Front Lower
M14x1,5-L=286mm D=@18mm
GJ2232250 G03034550B
MA-11202 MA-16235
Ball Joint Suspension Control Arm and Ball Joint

Assembly

D=@18mm Front Right Lower
G03034550B GABBE34300
MA-13223 MA-14210
Axial Joint Stabilizer Link
Front Front Left
M14x1,5-L=300.8mm L=104,5mm
GA2A32250 GA2A34170A
MA-14212 MA-16236

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Rear
L=88mm Front Left Lower
GA2C28170B ~ GAGBE34350
MA-12201 MA-11202A
Tie Rod End Ball Joint
Front Front Lower
M14x1,5Rht (BALL PIN LONG) D=@18mm
F02Z3A130A GA2A34300
MA-16235A MA-16236A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
(BALL PIN LONG)

Front Left Lower
(BALL PIN LONG)

GABBE34300 GABBE34350
MA-14211 FO-20234
Stabilizer Link Control Arm Bushing
Front Right Center
L=1045mm  Ga2B34470A
GA2A34150A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

17

info@parsrot.com



Rot sy

= Land MAZDA
626 1997-2002
|
MA-14211 MA-13243
Stabilizer Link Axial Joint
Front Right Front -y
L=104,5mm M14x1,5Rht-L=307,5mm
GA2A34150A GE4T32240
] |
MA-16245 MA-16246
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint —_
Assembly Assembly

Front Right Lower

Front Left Lower

*r

GE4T34300E GEA4T34350E
MA-14244 MA-14244HD
Stabilizer Link Stabilizer Link
Rear Rear
L=230mm HeavyDuty L=230mm
GE4T28170 GE4T28170A
MA-12201 MA-14210
Tie Rod End Stabilizer Link
Front Front Left
M14x1,5Rht L=104,5mm
F02Z3A130A GA2A34170A
MA-12552 MA-12551
Tie Rod End Tie Rod End
Front Outer Front Inner
M14x1,5Lht M14x1,5Rht
UA0199324 UA0199323
MA-11553 MA-11554
Ball Joint Ball Joint

Front Upper
UH7134540

Front Lower

UA0199356

1984-1994

1984-1994

MA-11554
Ball Joint
Front Lower

UA0199356

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

MA-11553
Ball Joint

Front Upper
UH7134540

parsrot.com

info@parsrot.com



Rot sy

= Land MAZDA
B2200 1984-1994
|
MA-12551 MA-12552
TieRod End  Tie Rod End “F
Front Inner Front Outer .
u M14x1,5Rht  M14x1,5Lht g——_
UA0199323 UA0199324 S—
B2200 1998-2009
| |
FO-161038 FO-161039
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper

Front Left Upper

F87Z3084AA F87Z3085AA
B2300 | Usa Made 2001-2010
| |
FO-11780
Ball Joint
Front Lower
F87Z3050BA
1998-2011
|
FO-161038 FO-161039
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Upper Front Left Upper
F87Z3084AA F87Z3085AA
1995-1999
MA-11504 MA-11553
Ball Joint Ball Joint

Front Lower

Front Upper

4

UC8634510A UH7134540
MA-12552 MA-12551
Tie Rod End Tie Rod End
Front Outer Front Inner u
M14x1,5Lht M14x1,5Rht
UA0199324 UA0199323

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

B2500

MAZDA
UN 1998-2006
|
MA-12551 MA-12552
TieRodEnd  Tie Rod End o
Front Inner Front Outer .
M14x1,5Rht M14x1,5Lht .
UA0199323 UA0199324 S
|
MA-11553
Ball Joint
Front Upper
UH7134540
1st Gen 2015 after
|
MA-13853 MA-12851
Axial Joint Tie Rod End
Front Front
D10E32240 D10E32280
MA-16858 MA-16859
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

D10E34350 D10E34350
MA-11805 MA-14850
Ball Joint Stabilizer Link
Front Lower Front
JapanBuilt  pr5A34170
B60P34300
KE
MA-11805 MA-16808
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly

JapanBuilt Front Right Lower
B60P34300 GHP934300D
MA-13803 MA-12801
Axial Joint Tie Rod End
Front Front
M14X1,5-L=304mm M14x1,5
KD3132240 KD3132280

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

20

info@parsrot.com



Rot sy

= Land MAZDA
]
CX-5 KE 2011-2017

MA-14800 MA-16809

— Stabilizer Link Suspension Control Arm and Ball Joint

Assembly
Front

L=287,5mm Front Left Lower
KD3534170 GHP934350D

MA-20868 MA-20880

Control Arm Bushing Control Arm Bushing
Front Right Lower Inner Right
KD5334300F KD3534300D

MA-20881

Control Arm Bushing
Left
KD3534350D

ER 2007 after

MA-13513 MA-12511
Axial Joint Tie Rod End
Front Front Right

EG2132240  M14x15
EG2132280B

MA-12512 MA-11515
Tie Rod End Ball Joint
Front Left Front

M14x1.5  EH4434350
EG2132290B

MA-16518 MA-16519

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower
EH4434300 EH4434350

MA-14166 MA-14516
Stabilizer Link Stabilizer Link
Front Left Front Right
L20634150A L20634150A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 21 info@parsrot.com



Rot sy

= Land MAZDA
|
CX-7 ER 2007 after

.|

MA-14517 MA-14167
A~ Stabilizer Link Stabilizer Link P
Front Left Front Right
L20634170A L20634150A

MA-13813 MA-16818

Axial Joint Suspension Control Arm and Ball Joint

Assembly
Front

Front Right Lower
TD1132240A

TD1134300E

MA-16819 MA-14810

Suspension Control Arm and Ball Joint Stabilizer Link P
Assembly N

Rear

L20628170A

Front Left Lower

TE6934350C

MA-14816 MA-14817
Stabilizer Link Stabilizer Link
Front Right Front Left
TD1134150A TD1134170A

MA-11815
Ball Joint

Front Lower

TD1134300E
1996-2003
|
MA-13173
Axial Joint
Front
D10232240
(SR1) 1984-1988
|
MA-11403
Ball Joint

) Front Lower o
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

S08399356 ,, info@parsrot.com




Rot sy
= [and MAZDA
(SR1) 1984-1988
|
MA-11402 MA-13404
Ball Joint Axial Joint
Front Front __._’_;.
S08399364 M14x1,5Rht-L=184mm
S08332115
|
MA-12401
Tie Rod End
Front
M14x1,5Rht
S08399324
(SR2) 1998-2004
| |
MA-11402 MA-11403
Ball Joint Ball Joint
Front Front Lower
S08399364 S08399356
| |
MA-13414 MA-12411
Axial Joint Tie Rod End
_ﬂ Front Front
M14x1,5-L=289mm M14x1,5Rht
S47P32240A S47P32280
FAMILIA 1999-2004
|
MA-14358 MA-14137
Stabilizer Link Stabilizer Link
Rear Rear i l
Only:2.0Mpv L=160mm L=190mm
B30H28170B B26R28170
|
MA-14144 MA-16146

Stabilizer Link

Suspension Control Arm and Ball Joint —
Assembly

L

Front
L=190mm Front Left Lower
M26R34170 B25D34350D
MA-16145 MA-11140
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front
Front Right Lower
G03099356

B25D34300D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land MAZDA
FAMILIA 1999-2004
|
MA-13127 MA-13604
Axial Joint Axial Joint
—_—— e Front Left — —— A
(Only:Lantis) M12x1,25-L=320mm M14x1,5-L=308mm
B25D32240X B25D32240
| |
MA-13603 MA-12201
Axial Joint Tie Rod End
— A Right Front
M14x1,5-L=308mm M14x1,5Rht
B25D32240 F02Z3A130A
LANTIS FAMILIA 1999-2004
|
MA-12201 MA-13603
Tie Rod End Axial Joint
Front Right ﬁ
M14x1,5Rht M14x1,5-L=308mm
F02Z3A130A B25D32240
|
MA-13604 MA-13127
Axial Joint Axial Joint
Left Front ——a———uile
M14x1,5-L=308mm (Only:Lantis) M12x1,25-L=320mm
B25D32240 B25D32240X
|
MA-11140 MA-16145
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
G03099356
B25D34300D
|
MA-16146 MA-14144
Suspension Control Arm and Ball Joint Stabilizer Link :
Assembly
Front
Front Left Lower L=190mm
B25D34350D M26R34170
|
MA-14137 MA-14358
Stabilizer Link Stabilizer Link
Rear Rear i l
L=190mm Only:2.0Mpv L=160mm
B26R28170 B30H28170B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

MAZDA

MPV

I (LW)

1999-2006

MA-14154

Stabilizer Link

MA-14329

Stabilizer Link

>

Front Front
L=265mm L=325mm
LC6234170 LC7034170
MX-3 K] 1991-1997
| .|
MA-14117 MA-12111
) Stabilizer Link Tie Rod End
Front Front
L=55mm M12x1,25Rht
EA0334170A 8AB232280
| .|
MA-11122
Ball Joint
Front
ChNo:->1-630912 D=18mm
BTDA34550
MX-5 I (NA) 1989-1998
.|
MA-13303 MA-12301
Axial Joint  Tie Rod End @
Front Front |
M12x1,25-L=301mm M12x1,25Rht ey
NA0232240 8AN132280
.|
MA-11305 MA-14310
Ball Joint Stabilizer Link
Front Front H
NAO134550 L=107mm-D=@10mm
NA0134170
I (NB) 1998-2005
| .|
MA-13363 MA-14311
Axial Joint Stabilizer Link .
2 2 ] Front Front Right
M12X1,25-L=303mm L=104mm
NC1032250A NC1034150

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

25

info@parsrot.com



Rot sy

= Land MAZDA
MX-5 I (NB) 1998-2005
MA-14312 MA-11305
Stabilizer Link Ball Joint
Front Left Front
L=104mm  NA0134550
NC1034170
MA-12301
Tie Rod End
Front
M12x1,25Rht
8AN132280
Il (NC) 2005-2015
|
MA-13373 MA-12871
Axial Joint Tie Rod End
Front Front
(1.8i-2.0i) M14X1,5-L=234mm NE5132280A
NE5132240
|
MA-14160
Stabilizer Link
Rear
F15128170
(CE), 2nd Gen 1992-1998

MA-14211 MA-12201
Stabilizer Link Tie Rod End
Front Right Front
L=104,5mm M14x1,5Rht
GA2A34150A F02Z3A130A
MA-14210 MA-16236
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front Left
L=104,5mm Front Left Lower
GA2A34170A  GAGBBE34350
MA-14212 MA-13223
Stabilizer Link Axial Joint
Rear Front
L=88mm M14x1,5-L=300.8mm
GA2C28170B GA2A32250

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

26

info@parsrot.com



Rot sy

= Land MAZDA
MX-6 (CE), 2nd Gen 1992-1998
|
MA-16235 MA-11202
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Right Lower D=@18mm
GABBE34300 G03034550B
|
FO-20234
| Control Arm Bushing
:.;‘»-' Center
\ GA2B34470A

PREMACY (CP), 1st Gen 1999-2005
MA-12201 MA-13604
Tie Rod End Axial Joint
Front Left
M14x1,5Rht M14x1,5-L=308mm
F02Z3A130A B25D32240
MA-13603 MA-13617
Axial Joint Axial Joint
——mi Right Front
M14x1,5-L=308mm (lantis) M14x1,5
B25D32240 B25D32250
MA-14611 MA-14144
Stabilizer Link Stabilizer Link
ﬁ‘ b Rear Front
L=190mm L=190mm
M26R28170 M26R34170
PROTEGE BG, 6th Gen
MA-16126N MA-13114
Suspension Control Arm Axial Joint
A Front Left Lower Front
Lower  IRYRIIRRING =322 5mm
BR7034350B B4563225X
MA-16125N MA-11112
Suspension Control Arm Ball Joint
A Front Right Lower Front
Lower D=g16mm
B45534300B B45534550

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land MAZDA
PROTEGE BG, 6th Gen 1989-1994
|
MA-13113 MA-20628
Axial Joint Control Arm Bushing
t - Front Left
wi2x1 SIS BTAA3446Y
B4563224X
]
MA-20627
Control Arm Bushing
Right
BTAA3446X

| |
MA-14166 MA-13163
Stabilizer Link Axial Joint
Front Left Front
— L20634150A F15132240
|
MA-12161 MA-12162
N Tie Rod End Tie Rod End —
J Front Right Front Left
F15132280 F15132290
MA-14160 MA-14167
Stabilizer Link Stabilizer Link
Rear Front Right
F15128170 L20634150A
TRIBUTE 1st Gen 2001-2006
|
FO-121041 FO-161048
Tie Rod End Suspension Control Arm and Ball Joint —
Front Assembly .'-J":
Front Right \
ECO0132280A
EC0134300N
2nd Gen 2007-2012
|
FO-13143
Axial Joint

Front
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

AL823280B

info@parsrot.com



A
&’Lana’ MAZDA

TRIBUTE 2nd Gen 2007-2012

FO-16149 FO-16148

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Front Right Lower
6L8Z3079AA 6L8Z3078AA

XEDOS 9 TA 1993-2003

MA-14530
Stabilizer Link
Rear

T00128170B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 29 info@parsrot.com






